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№7. Г. Хиткот, 1898 (версия). 1.Rf2? K:d4! 1.c4! – 5 points 

№8. Ф. Хлубна, 1975. 1.Bc8! - 1 points – 2.B:b7 -0,5 point , 1...c4 2.S:c3+1 point,  

1...S:e6 2.S:f6+1 point,  1...S:d5 2.Sg5+1 point, 1...Bh5 (Bf5,Be8) 2.S:c5+-0,5 point,  

На 1…Be8 возможно и 2.S:f8 

№9. К.Гамницер, «Schach”, 2010. 1. h3! –1 point; 1…~ 2. Bg6+ Kxg6 3. Qxe4+ Kf7 4. Sh6+ 

-1 point; 1. - Se3 2. d4!  Sd5+ 3. Kd8! 4. Qxe4+! - 3 point 

№10. О. Перваков, «Шахматы в СССР», 1988,5 приз 

1.Bb1! Kc4 [1...a5 2.Bd3+ Kb4 3.c6+ Kc3 4.Sxe5 Kd4 5.Kxg7 Kxe5 6.Kf7 Kd4 7.Be2 a4 8.g6 

a3 9.g7 a2 10.g8Q a1Q 11.Qg7++-]  2.Sc6! – 1 point; [2.Sf7? Kd4! 3.Sxe5 Kxe5 4.Bd3 a5=]  

2...e4! 3.Bxe4 e2 4.Ne5+ Kd4! 5.Bd3! e1N! - 2 point  

6.Kxg7 [6.g6? Kxe5 7.Kxg7 (7.Be4 Kf6!) 7...Sxd3] 6...Kxe5 7.Be4!! – 3 points;  

7…Kxe4 8.g6 Sg2! 9.Kh8! Sh4 [9...Nf4] 10.g7 Sg6+! 11.Kg8! - 4 point ; 

11…Kf5 [11...Ne7+ 12.Kf8!] 12.Kf7 Se5+ 13.Ke7! -5 point. 

№11. G.Neukomm, “Problem”, 1955 (версия А.Селиванова) 

1.g3 Bh1!  2.g2 b8S  3.gh1S! Sc6 # -2,5 points;  

1.c2 Ra2 2.Kc3 R:c2+ 3.K:d3 Be4# -2,5 points;  

№12. А.Селиванов, «Задачи и этюды», 2010 

1.Ke2!- 0,5 points; 1…g5 2.Qg3! g4 3.Kf1! gh 4.Rd2+ Kc1 5.Rc3+ K:d2 6.Qe1+ 1,5 points; 

1…g6 2.Ke1! g5 3.Qh5! g4 4.h4 g3 5.Bg2! K:c2 6.Qd1+1,5 points; 

1…gf 2.Bd3! f5 3.Qg5! f4 4.Kd1! f3 5.R:b2+ K:b2 6.Qc1+  -1,5 points . 

 


